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QUESTION 1

Which four order entities are global entities for which only one record for each instance of the entity is stored in the order
orchestration and planning data repository? (Choose four.) 

A. Payment terms 

B. Unit of Measure 

C. Currency 

D. Warehouse 

E. Freight carriers 

Correct Answer: ABCE 

https://docs.oracle.com/cd/E25054_01/fusionapps.1111/e20386/F499608AN2AEC9.htm The following entities are the
global entities: Order orchestration reference objects Units of measure (UOM) and UOM conversions Demand classes
Currency and currency conversion classes Shipping methods 

 

QUESTION 2

You are importing sales order data from a source system. You want to delete the imported sales orders from interface
tables to save storage space. How would you do this? 

A. Delete the orders from Oracle Content Server. 

B. Run the ESS job "Delete Orders from Interface Tables." 

C. You must request the system administrator to delete orders from interface tables. 

D. Delete the orders from the Order Management work area. 

E. You cannot delete orders from interface tables. 

F. Run the ESS job Purge Interface Tables. 

Correct Answer: D 

 

 

QUESTION 3

Which two statements are true about the functional capabilities of Oracle Cloud Configurator? (Choose two.) 

A. For users who do not have access to Oracle Fusion Product Hub, Oracle provides an alternative option to create
models directly in the workspace area. 

B. Only the optional structure and attributes of a Product Item are imported from Product Hub to Configurator and not
the mandatory elements because they cannot be configured by an end user. 
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C. Multiple drafts of the same model can be modified at the same time, but they must be in different workspaces. 

D. The user interface pages are tightly connected to the model. You cannot add, delete, or reorder pages without
affecting the model structure. 

Correct Answer: BC 

"Configurator models are imported from items maintained in Oracle Fusion Product Hub (which is accessed by the
Product Information Management work area) that have a Structure Type of Model. Only the optional structure and
attributes of the product item are imported, because the required elements of the product item cannot be configured by
an end user. The option classes and optional standard items for each model item are also imported." "Configurator
models are versioned objects. A model can go through multiple drafts before being released in a series of versions.
There can be multiple drafts of the same model being modified at the same time, but they must be in different
workspaces. A message notifies you if you add a model to a workspace when another draft exists in another workspace.
There can only be a single released version of a model with the same effective start date." 

 

QUESTION 4

A revision was made to an existing sales order in Order Management Cloud. But it did not trigger a change order. 

Identify the attribute that was modified during the revision of the sales order. 

A. Requested Ship Date 

B. Customer PO 

C. Unit Selling Price 

D. Ordered UOM 

E. Ordered Quantity 

Correct Answer: B 

 

QUESTION 5

Your company wants a category of goods to be globally sourced for certain regions in Europe. After setting up the
sourcing rules, you attempt to assign them by using the Category and Region option, but the category is not on the list
of values. 

What is the problem? 

A. The Default Sourcing Assignment Set proflle option is not set. 

B. The category set that is associated with the Sourcing Rule Category Set profile option is controlled at the
organization level. 

C. The Default Sourcing Assignment Set profile option is set to a category set for the Item category set structure. 

D. A category set has not been selected under the Sourcing Rule Category Set profile option. 

Correct Answer: D 
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